1. An increase in real income in Canada should

a. increase the demand for dollars in the foreign exchange market.

b. increase the supply of dollars in the foreign exchange market.

c. cause the dollar to gain value against other currencies.

d. improve the Canadian balance of payments.

2. McCain Foods (Canada) buys $50 million of Japanese securities. This transaction causes the Canadian

a. current account balance to increase.

b. current account balance to decrease.

c. financial account balance to increase.

d. financial account balance to decrease.

3. Other things equal, a reduction in Canadian interest rates relative to foreign interest rates should

a. improve the Canadian financial account but weaken the dollar.

b. improve the Canadian financial account and strengthen the dollar.

c. worsen the Canadian financial account and weaken the dollar.

d. worsen the Canadian financial account but strengthen the dollar.

4. If the government chooses a particular exchange rate and offers to buy and sell currencies at that rate, it has a

a. partially flexible exchange rate.

b. flexible exchange rate.

c. fixed exchange rate.

d. gold standard.

5. Floating exchange rates

a. require unlimited foreign exchange market intervention.

b. require limited foreign exchange market intervention.

c. require no foreign exchange market intervention.

d. are determined by central banks.

Refer to Figure 4.1 as you answer question 6.

[image: image1.jpg]B

(s2219p ) sauery jo oot

e q

‘Quantity of French Francs

a,




Figure 4.1

6. To maintain the price of francs at $.40 the government must

a. buy Q1 - Q0 francs.

b. buy Q1 - Q2 francs.

c. sell Q2 - Q0 francs.

d. do nothing.

7. The current Canadian exchange rate system is most like a

a. fixed exchange rate system.

b. gold standard.

c. freely fluctuating exchange rate system.

d. partially flexible exchange rate system.

8. A country that imposes a tariff will reduce its

a. imports and the supply of foreign currency.

b. imports and the demand for foreign currency.

c. exports and the supply of foreign currency.

d. exports and the demand for foreign currency.

Refer to Figure 4.2 as you answer question 9.
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Figure 4.2

9. Suppose the initial supply and demand curves are S and D when a tariff is imposed. The tariff will cause

a. S1 to shift to S0
b. S1 to shift to S2
c. D1 to shift to D2.

d. D1 to shift to D0.
10. Many economists oppose trade restrictions because of

a. harm to domestic producers.

b. benefit to domestic producers.

c. increased tax revenues.

d. limited competition from imports.

11. When the value of the Canadian dollar fell in the 1990s, this

a. encouraged imports and exports.

b. discouraged imports and exports.

c. encouraged imports and discouraged exports.

d. discouraged imports and encouraged exports.

12. Which of the following statements best describes the relationship between exchange rates and aggregate demand for Canadian output?

a. The exchange rate has no effect on aggregate demand.

b. A high value of the dollar tends to reduce aggregate demand, and a low rate tends to increase it.

c. A high value of the dollar tends to increase aggregate demand, and a low rate tends to reduce it.

d. Aggregate demand for Canadian output increases as the value of the dollar increases.

13. A weak dollar would be the best policy if the government wanted to

a. reduce the trade balance and lower inflation.

b. increase the trade balance and lower inflation.

c. reduce imports and increase the trade balance.

d. increase exports and reduce the trade balance.

14. A country that wants to fix its exchange rate at a higher level than the market exchange rate would most likely adopt

a. expansionary fiscal policy.

b. expansionary monetary policy.

c. contractionary fiscal policy.

d. contractionary monetary policy.

15. In 1992, Germany adopted a tight monetary policy to reduce its inflation rate. Britain and Italy, whose currencies were effectively fixed to the German mark, let their currencies depreciate against the mark rather than intervene to preserve the fixed rate with the mark. The most likely reason for this decision was that defence of the pound and lire

a. was no longer possible because Britain and Italy lacked adequate foreign exchange reserves.

b. would have required expansionary monetary and fiscal policies that would have triggered inflation.

c. would have required contractionary monetary and fiscal policies that would have triggered a recession.

d. would have increased German inflation and created an international monetary conflict with Germany.

16. Monetary policy affects exchange rates in all the following ways except through its impact on

a. the interest rate.

b. taxes.

c. price level and inflation.

d. income.

17. As the price level increases, the trade balance

a. is likely to improve.

b. is likely to worsen.

c. is not likely to change.

d. may improve or worsen depending on how much the price level increases.

18. In the short run, the net effect of expansionary monetary policy tends to

a. be ambiguous with respect to the exchange rate, while decreasing the trade deficit.

b. be ambiguous with respect to the trade deficit, while increasing the exchange rate.

c. decrease the exchange rate and increase a trade deficit.

d. increase the exchange rate and decrease a trade deficit.

19. The net effect of an expansionary fiscal policy is

a. ambiguous with respect to the trade balance, but positive with respect to the exchange rate.

b. ambiguous with respect to the exchange rate, but negative with respect to the trade balance.

c. negative with respect to the exchange rate and positive with respect to the trade balance.

d. positive with respect to the exchange rate and negative with respect to the trade balance.

20. The basic idea of crowding out is that a budget

a. deficit will cause the interest rate to go down.

b. deficit will cause the interest rate to go up.

c. surplus will cause the interest rate to go down.

d. surplus will cause the interest rate to go up.

Refer to Figure 4.4 as you answer question 21.
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Figure 4.4

21. Canadian fiscal policy is most likely to shift the demand for dollars from D1 to D2 if it increases Canadian

a. interest rates.

b. income.

c. prices.

d. imports.

22. In the short run, crowding out could be avoided if foreigners

a. sold the debt at a higher interest rate.

b. sold the debt at the existing interest rate.

c. bought the debt at a higher interest rate.

d. bought the debt at the existing interest rate.

23. Assume Canada wishes to raise the value of the Canadian dollar and lower its trade deficit. It would pressure the United States to run

a. contractionary monetary policy.

b. contractionary fiscal policy.

c. expansionary monetary policy.

d. expansionary fiscal policy. 
Refer to Figure 4.3 as you answer question 24.
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Figure 4.3

24. Other things equal, an increase in Canadian income will shift the supply of dollars from

a. S1 to S0 causing the price per dollar to fall.

b. S1 to S0 causing the price per dollar to rise.

c. S0 to S1 causing the price per dollar to fall.

d. S0 to S1 causing the price per dollar to rise.

Questions 25 and 26 (Short Answer)
(10 marks)

25. Define and briefly explain the significance of each of the following terms.

(5 marks)

a. Exchange rate

b. Current account

c. Trade deficit

d. Free trade

e. Balance of payments

26. Assume that, in response to rising inflation pressure and looming conflict in the Middle East, the Bank of Canada adopts contractionary monetary policy.

a. What would happen to Canadian imports, exports, and trade surplus?
(2.5 marks)

b. With aid of appropriate diagram(s), explain what would happen to equilibrium output and price level.
(2.5 marks)

